Phone: (228) 396-0486



February 5, 2025

Mr. Jon McCraw City Manager City of Diamondhead 5000 Diamondhead Circle Diamondhead, MS 39525

Re: Pay Application #5

**Turnberry Drainage Project** 

LJ Construction, Inc.

Dear Mr. McCraw:

Enclosed, please find Pay Application #5 to be considered for approval by the City Council at the next meeting. The Application includes the period from 12/30/2024 to 1/30/2025. At the end of the application period, we are approximately 82% complete on contract value and 100% on contract time. The project was issued Substantially Complete 1/15/2025.

I have reviewed this pay application and find that it is an accurate request according to the amount of work that has been completed since the project began. With that said, I recommend that the Council approve payment to LJ Construction, Inc., in the amount of \$10,255.05. Please do not hesitate to contact me should you have any questions.

Sincerely,

COVINGTON CIVIL & ENVIRONMENTAL, LLC

Sarah McLellan, P.E. Project Engineer

,

Enclosures: LJ Pay Application #5 Signed

Contractor's Application for Payment Owner: City of Diamondhead Owner's Project No.: Engineer: Covington Civil & Environmental LLC **Engineer's Project No.:** 16175 FP WA 5 ☐ Construction Inc. Contractor; Contractor's Project No.: Project: **Turnberry Drainage Project** Contract: **Application No.:** Application Date: 2/4/2025 **Application Period:** From 12/30/2024 to 1/30/2025 1. Original Contract Price 617,551.40 2. Net change by Change Orders 54,997.90 3. Current Contract Price (Line 1 + Line 2) 672,549.30 4. Total Work completed and materials stored to date (Sum of Column G Lump Sum Total and Column J Unit Price Total) 551,966.26 5. Retainage a. 2.50% 551,966.26 Work Completed 13,799.16 - Stored Materials c. Total Retainage (Line 5.a + Line 5.b) 13,799.16 6. Amount eligible to date (Line 4 - Line 5.c) 538,167.10 7. Less previous payments (Line 6 from prior application) 527,912.05 8. Amount due this application 10,255.05 9. Balance to finish, including retainage (Line 3 - Line 4) 120,583.04 **Contractor's Certification** The undersigned Contractor certifies, to the best of its knowledge, the following: (1) All previous progress payments received from Owner on account of Work done under the Contract have been applied on account to discharge Contractor's legitimate obligations incurred in connection with the Work covered by prior Applications for Payment; (2) Title to all Work, materials and equipment incorporated in said Work, or otherwise listed in or covered by this Application for Payment, will pass to Owner at time of payment free and clear of all liens, security interests, and encumbrances (except such as are covered by a bond acceptable to Owner indemnifying Owner against any such liens, security interest, or encumbrances); and (3) All the Work covered by this Application for Payment is in accordance with the Contract Documents and is not defective. L J Construction Inc Contractor: Signature: Jours Date: Recommended by Engineer Approved by Owner Sarah McLellan, P. By: By: Title: Project Engineer Title: Date: 2/5/2025 Date: Approved by Funding Agency By: By: Title: Title: Date: Date:

A	F-44		
Progress	ESTERNATE	- Unit Pr	ce Work

	S ESUMENTE - UNIT PRO											Contractor's A	pplication	o for Payment
Owner: Engineer:	City of Diamondh	ead Environmental LLC		<del>-</del>								Owner's Project No		
Contract											-	Empineer's Project		16175 FP WA 5
Project:	Turnberry Draina						<del></del>				_	Contractor's Projec	at Mau:	
Contract:						·								
Application	m No.: 5	Andread - 0 - 4	4											
*		Application Park		12/30/24	to	01/30/25	<u>-</u>					Applic	ation Date:	02/04/25
		Talls		1 1	E	de Carlos de Carlos de	i lui <b>s</b> i			ingibu 21 dik Jeda				CARAMETERS OF
3 1		Albira de la composición	n domentaria	r i sa	a historicani	All Samer els un term	55 (100 Color) 557 (101 652 644 650)		Work Con		<b>网络网络</b>	diamental		interested of the
	Attication of their		and the state of t	Made to the	B WAR CHURCH	PHUG HAPPARTOPEL	Estimated Quarters	Value of Work	100	dikamir. 128		Work Completed	Xel	
	And the same of the same	and the standard of	a de la comunicación		1035	Value of Sid Num		Company :	Companie Chamble Securporated in	Value of Work Compared to Date		and Maderbit	Value of	and a miles
Oct /term		ecolor .	5.	of the state of the	Untrib	SCKE)	Mork Current Pay		Jacoporated in	EXA	Seared paid in 69	Standards U = Ki	(0/s)	
i P	and the ministra	and the second tree		j. Udits	<b>10</b>	<u>. (5)</u>	App	xej(s)	the Block	1 19	(5)	<b>.</b>	144	ni i s <b>isi</b> en
01505-1	Mobilization	27.4		1 15	\$ 44,842.00			T	and the same			Marie Carlos		
02050-1	Removal of Asphalt Paverner	4 41 D	1,200		5 8.00			<del></del>	0.66		<del> </del>	30,492.56	58%	14,349.44
02050-2	Removal of 12" Yop of Builds		246		S 15.00			-	1,252.00	<u> </u>		10,016.00	104%	(415.00
02050-3	Several Asphalt, All Depths		<del>                                     </del>		S 7.00	0,000,00			240.00	-,000		3,600.00		
02050-4					\$ 2,500.00			<del>                                     </del>	80.00 1.00			560.00		
02050-5	Removal of Gravel Pavement	All thicknesses	24		\$ 10.00				24.00			2,500.00		
02111-1	Clearing and Grubbing		1.8	O LS	\$ 5,000.00			-	1.80			240.00 9,000.00		
62221-1	Select Fill		1,400		\$ 17.00		54.00	918.00	54.00			918.00	4	22,882.00
02226-1 02226-2	Borrow Escavation, LVM Excess Escavation, LVM		1,600		\$ 17.00			-	575.00			9,775.00		17,425,00
92726-8	Ditich Excevation and Grading	,	750		\$ 12.00 \$ 20.00				734.00			8,808.00		192.00
7234-1	Size 610 Crushed Stone Base		215		\$ 20.00 \$ 125.00				40.00			800.00	100%	
02234-2	MDOT Type IV Gestardile Fat	ric	1,250		\$ 3.00				215.00 1,252.00			26,875.00	100%	
02295-1	Silt Fence		1,400	1	\$ 4.50			<u>-</u>	1,232.00	3,756.00		3,756.00	100%	(6.00)
*****			<del>                                     </del>	<del> </del>	1	6,500,00	•	-	-	<u>-</u>		-1	0%	6,300.00
02295-2	Wettles		750	LF LF	5 4.50	3,375.00	-	-	_				0%	3,375.00
02311-1	5" HDPE Pipe - Directional Bo	T	100	UF .	\$ 52.32	5,232.00			100.00				<del>                                     </del>	
02721-2	Reinforced Cast-in-Place Con				<del> </del>		<del></del>		00.00	5,232.00		5,232.00	100%	-
	<u> </u>	TWO STOCKES	69	CY	\$ 1,650.00	113,8\$0.00			65.85	108,652.50		108,652.50	95%	5,197.50
02721-2	Castings/Gratings		2,600	LIBS	\$ 4.00	10,400.00		•	2,184.00	8,736.00		8,736.00	84%	
02722-1	dell but to the same		640	LF	\$ 180.71					<del></del>		0,730.00		1,664.00
42/22-1	48" Reinforced Concrete Pipe	, Class III		<del>                                     </del>	3 180.71	115,654.40		•	580.00	104,811.80	li	104,811.80	91%	10,842.60
02722-2	42" Reinforced Concrete Pipe	Cless III	8	LF	\$ 151.00	1,208.00	ł	-	24.00	3,624.00		3,624.00	300%	(2,416.00)
02722-3	42° Reinforced Concrete Flare	J #- 3 #	1	EA	\$ 3,565.00	3,565.00				<del></del>	<del></del>			(2,71000)
	VA THERMOOD CONCINED FOR	d Eng Secons	<del> </del>	<del> </del> -	7 3,3330	3,363.00		-	1.00	3,565.00		3,565.00	100%	. <b>-</b>
	Locse Riprap, on Geotextile Fo	foric	85	SY	\$ 100.00	8,500.00		-	60.44	6,044.00		6,044.00	71%	2,456.00
	Hydroseeding		4,840	SY	\$ 2.00	9,680.00			1,500.00	3,200.00		3,200.00	33%	6,480.00
	6" Topsoil Sodding		1,000		\$ 20.00	20,000.00	300.00	6,000.00	300.00	6,000.00		6,000.00	30%	14,000.00
	Maintenance of Traffic		1,000		\$ 12.00	12,000.00	300.00	3,600.00	578.00	6,936.00		6,936.00	50%	5,064.00
	Pond Dredging and Disposal, 1	0.5 Elevation	3,400	LS CY	\$ 7,500.00 \$ 25.00	7,500.00		·	1.00	7,500.00		7,580.00	100%	
	Watermain Adjustment		3		\$ 6,150,00	85,000.00 12,300.00			3,000.00	75,000.00		75,000.00	88%	10,000.00
	Water Service Adjustment		2		\$ 1,800.00	3,600,00			3.00	18,450.00		18,450.00	150%	(6,150,00)
	8" Sewer Service Adjustment		5		\$ 5,690.00	28,400.00			4.00	22,720.00	<del></del>	22,720.00	0%	3,600,00
	S' Sewer Service Adjustment		1		\$ 6,000.00	6,000.00		-	4.00	***************************************		22,720.00	80%	5,680.00
	Sewer Main Adjustment Removal and Relocation of Sev		1		\$ 6,100.00	6,100.00			2.00	12,200.00		12,200,00	200%	(6,100.00)
	Manhole Tie in for Sewer Servi		1		\$ 2,000.00	2,000.00							0%	2,000.00
	1.5° 9.50 mm, ST Asphalt pave		1,145	EA SY	\$ 2,000.00 \$ 19.75	2,000.00							0%	2,000.00
	LS" 12.5mm, ST Asphalt Paver		1,145	SY	\$ 19.75 \$ 19.75	22,613.75 22,613.75			1,252.00	24,727.00		24,727.00	109%	(2,113,25)
02512-3	fruffic Markings		13	UF .	\$ 30.00	390.00			1,252,00	24,717.00		24,727.00	109%	(2,113.25)
	24" Reinforced Concrete Pipe (		8	LF .	\$ 95.05	760.40			8.00	760.40		760 40	0%	390,00
	4" Reinforced Concrete Fleir (		1		\$ 1,650.00	1,650.00			1.00	1,630.00		760.40 1,650.00	100%	
- US	Removal of Pipe (all types and	M206)		LF	\$ 11.25	90.00			8.00	90.00		90.00	100%	

10,518.00

\$ 551,966.26 \$

- \$ 551,966.26

80% \$ 129,583.04

Original Contract Totals & Change Order 1 & 2 \$ 672,549.30

Juner:	City of Diamondheed			Owner's Project No.:					
ngineer.	Covington Civil & Environme	ntal LLC						Engineer's Project No.:	16175 FP WA
Ontractor:	U Construction Inc.	-						Contractor's Project No.:	101/3 // 9//
roject:	<b>Tumberry Orainage Project</b>							CONGRESS S PROJECT NO.:	
Contract;									
pplication No.:	5	Application Period:	From 12/30/	24 to	01/30/25			Application Date:	02/04/25
* 4. 5	1 1	Part of the second second	5		Strate of the				Principal State Control
	2015		100			Work Completed Committee (1979)	West Character Code	UNION TO THE REPORT OF THE PARTY OF THE PART	
1	er alle Grand in Alle	fiscali a ligita (graph a fig.	al Jahran da 👑 😅	60.42	in influence expenses	INVESTMENTS OF THE STATE OF		THE RESERVE SALES	ANALUS II
200	<b>操作</b>	the second second	aria atau in i		and the second	Estimated Quantity   Value of Work	Extensive Pulse of Work	and the said the said of the said	Land
- 14°						Incorporated in the Completed	The second second		Statement to Fi
			in the thirt allered	Unit Price		Work - Current Pay Chrom Pay 200 (E.			and the last

ngineer: ontractor: roject: ontract:	Chy of Diamondhead Covington Chril & Environmental U.C U Construction Inc. Tumberry Drainage Project											Owner's Project No.: Engineer's Project No.: Contractor's Project No.:	16175 FP WAS
pplication No.:	5	Application Period:	From	12/30/24	tu	01/30/25	_				<u> </u>	6 - 11 - 22 2	
* A	Control of the second		<b>c</b>	0	Sec. A	n i i i i i i i i i i i i i i i i i i i	•			2 1	S	Application De	e: 02/04/25
			1111	Contrac	(adonostas)		Most Completed	Liver By App	West Com	Hold to Date	4.3	2 2	e majapas .
							Entirected Consents	Value of Work		Value of Work		Work Completed Sof	
ed man	tal San San		nii mankida	a de sant	Date No.	Kara Tara	Property is the West - Constant Part Co	Complessed -	Section 1	Completed to Des	Martin Comm	and Marris 19 19 19 19 19 19 19 19 19 19 19 19 19	يم با منظراً
80 L	Charleton		والبساة وحلة	1000	<b>ch</b>	area e propins	App 17			0 X 4	States (sea la C		
15310-1 Pond D	redging and Disposal , 7.5 Bevetton	4.5.85.18		Cr Cr	\$ 25.00		p Alternatur 2	/ 12 B 10 10 10 10 10 10 10 10 10 10 10 10 10		720		1 (6)	ii Langua (5)
					Alternate 2 Totals		<del>                                     </del>					- #DIV/	